Calculus Final Exam Solution

Exam Set:C
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3. (1) %E =50—10.02z+ 1%
= R =50z — 0.012? + 1001In |z + 1| + C
r=0, R=0
= 0=100In1+C
=C=0
hence R = 50x — 0.012z2 +1001In |z + 1

(2) z = 1500
R =50 x 1500 — 0.01 x 1500% + 100 x In(1500 + 1)
— 75000 — 22500 + 731.3887 A 53231.3887

4. 4 =10000(¢ — 6)
= V = 5000£? — 60000t
V(3) = —135000
V(0)=0
V(3) — V(0) = —135000
hence loss 135000

5. Let f(z) = 5>~
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7. (a) fol ﬂ(%Q)de = Wfol %d:ﬁ = % X %% =

() Jo (5 = (=3))Pmde — 31 = &2 + 27 492§ = % or [)(% — (=3))*ndx

8. P;=-03x+10 ... Demand
P,=01x+2 ... Supply
P, = P,

= —03z+10=0.1z 4+ 2

= x=20

then P;=P, =14

consumer surpluses = fOQO(demand function — price)dz
= [2(~0.3z + 10 — 4)da

= —0.152% + 6z|3°

=60

producer surpluses = fozo(price — supply  function)dz

= (P4 —(0.1z + 2)dx

—Jo
= 2z — 0.0522[2°
=20



